Parts List

Sketch Map Name Qty Sketch Map Name Qty Sketch Map Name Qty
u Basket | 1 / Slide 2 Q M5X19.2| 2
% Connection [

Self tapping
\ block < % screw 16 M5X10 1
@ Link film | 4 X M5X13 | 4 @ M5X8 | 4

o Fix the slide into cabinet as follow hint.

10.5

€@ Attach connection block with basket to cabinet door
as data shown.

) ——— e
F‘ﬂ-"-- '1:.'.\'
el LT LR T e
i i
1;_ —— WYY *
| £
N
o
| 96, |©
II F
T — I".'-—-;,I" | i
LY ““““m"""r.‘f!-_ﬁ- T
©
—
1

@ Connection block can be adjustable in 3cm up and down.
Make sure sliding smoothly.




